Computer Science I

Recitation #1

Array Sum Problem

The array sum problem is defined as follows:

Given two sorted integer arrays and a target value T, determine whether or not there exists a pair of numbers, one from the first array and one from the second array that add up to T.

For example, if the two arrays were:

	2
	3
	8
	9
	12
	22
	25


and

	1
	5
	11
	23
	45
	48
	52
	59
	71


and the target value was 57, then the answer would be yes because 9 (from the first array) plus 48 (second array) equals 57.
If the target value were 95, the answer would be no, since no number from the first array added to no number in the second array equals 95. (You can convince yourself of this by noting that 25+71 = 96 and that we have to find a sum that is one less than that, but if we change either number we "lose" more than 1.)

Write a C function that is as efficient as possible that solves this problem. The function prototype is given below:

// Pre-condition: vals1 is sorted in non-descending order

//                and is of length len1, vals2 is sorted

//                similarly and is of length len2.

// Post-condition: 1 is returned if there exists a value

//                 in vals1 when added to some value in

//                 vals2 equals target. If no pair of

//                 values exist, 0 is returned.
int arraySum(int vals1[], int len1, int vals2[], int len2,

             int target);
